## RESOLUTION OF THE TOHONO O'ODHAM LEGISLATIVE COUNCIL (Certifying May 25, 1991 General Election)

1 RES. NO. 91-212 2 WHEREAS, The Tohono O'odham Nation did on Saturday, May 25, 1991 3 conduct a general election for the offices of Chairman and 4 Vice Chairman of the Tohono O'odham Nation as well as 5 Representatives and Alternates to the Tohono O'odham 6 Legislative Council; and 7 WHEREAS, the Election did issue and post its Certification of 8 Election Results in accordance with Section 6 (E) of 9 Article VII of the Uniform Election Ordinance, certifying 10 to the election of the candidates who received the highest 11 number of votes for elective office; and WHEREAS, under Section 6(N) of Article VII of the Uniform Election 13 Ordinance, it is incumbent upon this Council to issue Certificates of Election to the candidates who received 14 15 the highest number of votes for each Council seat within 16 twenty days after the Election Board has posted its 17 Certificates of Election Results provided, however, that 18 no election contest statement has been filed against the 19 candidates within the time allowed and provided for, and 20 provided further that they hold no other elective office 21 of the Nation. WHEREAS, pursuant to Section 1(B) of Article VII of the uniform 22 Election Ordinance, the Certificate of District Residents 23 24 was presented which determines the number of votes each 25 district is entitled to cast as the Tohono O'odham Legislative Council in accordance with Section 2 of 26 27 Article IV of the Constitution of the Tohono O'odham

28

Nation; and

	RES. NO. <u>91-212</u> (Certifying May 25, 1991 General Election) Page (2)
1	
2	WHEREAS, concerns were raised as to the accuracy of said
3	Certificate; and
4	WHEREAS, a recommendation was made to retain the existing number
5	of votes allocated to each district, totalling 1,724.0.
6	NOW, THEREFORE, BE IT RESOLVED that the Chairman and Secretary of
7	the Tohono O'odham Legislative Council are hereby
8	authorized and directed on behalf of the Council to
9	execute and deliver a Certificate of Election to the
10	following persons elected either at large as Chairman and
11	Vice Chairman of the Tohono O'odham Nation, or from their
12	respective Districts as Representatives and Alternates to
13	the Tohono O'odham Legislative Council, who shall hold
14	their offices for a term of four (4) years and until their
15	successors are certified and seated, namely:
16	CHAIRMAN OF THE TOHONO O'ODHAM NATION
17	Josiah Moore
18	<u>VICE CHAIRMAN OF THE TOHONO O'ODHAM NATION</u> Sylvester Listo
19	
<b>2</b> 0	BABOOUIVARI DISTRICT Representative: Frances Miguel
21	Alternate: Joann Garcia
<b>2</b> 2	CHUKUT KUK DISTRICT  Representative: Alberta Lopez
<b>2</b> 3	Alternate: Berdella Jose
24	GU ACHI DISTRICT  Representative: Willard Anita
<b>2</b> 5	Alternate: Jonas R. Robles
26	<u>GU VO DISTRICT</u> Representative: Rmilio Lewis
27	Alternate: Anthony Flores
28	

RES. NO. 91-212 (Certifying May 25, 1991 General Election) Page (3) 1 2 HICKIWAN DISTRICT Representative: Manuel Osequeda, Jr. 3 Alternate: Henry Ramon (resigned) 4 PISINEMO DISTRICT Representative: Chester Antone Alternate: Fernando Valentine 5 6 SAN LUCY DISTRICT Representative: John Reno 7 Alternate: Mary Hoffman 8 SAN XAVIER DISTRICT Representative: Eugene Enis, Sr. Alternate: Michael Rios 9 SCHUK TOAK DISTRICT 10 Representative: Frances Francisco Alternate: Joe Juan 11 SELLS DISTRICT 12 Representative: Andrew Patricio Alternate: Lucille Encinas 13 SIF OIDAK DISTRICT 14 Representative: Willard Juan, Sr. Alternate: Delbert Thomas 15 16 BE IT FURTHER RESOLVED that the existing number of votes allocated to each District totalling 1,724.0 be retained. 17 18 The foregoing Resolution was passed by the Tohono O'odham Council on the 3rd day of June 1991 at a meeting at which a quorum was present with a vote of 1,610.0 for; 114.0 against; -0- not voting; 03 absent, pursuant to the powers vested in the Council by Section 20 1(g) of Article VI and Section X of the Constitution of the Tohono O'odham Nation, adopted by the Tohono O'odham Nation on January 18, 1986, and approved by the Acting Deputy Assistant Secretary -Indian Affairs (Operations) on March 6, 1986, pursuant to Section 22 16 of the Act of June 18, 1934 (48 Stat. 984). 23 TOHONO O'ODHAM LEGISLATIVE COUNCIL 24 25 Ann Antone, Legislative Chairwoman 26 day of 27 28

	RES. NO. 91-212 (Certifying May 25, 1991 General Election)								
	Page (4)								
1									
2	ATTEST:								
3	Veresa M. Chonemba								
4	Teresa M. Choyguha, Legislative Secretary								
5	(4th day of June , 19 91.								
6	Said Resolution was submitted for approval to the office of the Chairman of the Tohono O'odham Nation on the day of								
1	pursuant to the provisions of Section 5 of Article VII of the								
8	Constitution and will become effective upon his approval or upon								
9	his failure to either approve or disapprove it within 48 hours of submittal.								
10	TOHONO O'ODHAM LEGISLATIVE COUNCIL								
11	tusilland								
12	Mary Ann Antone, Legislative Chairwoman								
13									
14	[ ×] APPROVED ) on the of day of June, 19_								
15	[ ] DISAPPROVED) at 2.52 o'clock, .M.								
16	f com								
17	JOSIAH MOORE, Chairman								
18	TOHONO O'ODHAM NATION								
19	Returned to the Legislative Secretary on the day of								
20	June, 1991, at 3:00 o'clock, p.M.								
21									
22	Jeresa M. Chonguha								
23	Teresa M. Choyguha // Legislative Secretary								
24									
25									
26									
27									
	마이 동생이 되는 것이 아래를 하는데 가게 되었다면 하다.								
28	[[[[[[[[[[[[[[[[[[[[[[[[[[[[[[[[[[[[[[								

MOVED: COUNCILMONAN JOANNE PRESTON SUBJECT: CERTIFYING MAY 25, 1991 GENERAL ELECTION

SECOND: COUNCILMONAN MARY ANN ANTONE

DATE: JUNE 3, 1991

DISTRICTS	REPRESENTATIVES	of votes	FOR	AGAINST	NOT VOTING	ABSENT
BABOQUIVARI 229.0	1. Earl A. Francisco (Kenneth Chico)	114.5	X			
227.0	2. Joann Garcia (Frances Miguel)	114.5	X			
CHUKUT KUK 163.0	1. Rosita Ruiz (Rosemary Lopez)	81.5	X			
.03.0	2. Kenneth Williams (Harriet Toro)	81.5	X			
SU ACHI	1. Percy Lopez	83.0	X			X
166.0	2. Alex Ramon (Fernando Joaquin)	83.0	X			
GU VO	1. Cross Antone (Juan Joe Cipriano)	57.0		X		X
114.0	2. Virgil Lewis (Nichael Flores)	57.0		X		
HICKIWAN	1. Lloyd Francisco (Billy C. Manuel)	62.5	Х			
125.0	2. Lenora Montana ( )	62.5	X			X
PISINENO	1. Johnson Jose	59.5	X			
119.0	2. Edward Manuel (Alex Antone)	59.5	X			
SAN LUCY	1. Albert Manuel, Jr. (Max P. Jose)	53.0	X			
106.0	2. John Reno	53.0	X			
SAN XAVIER	1. Rugene Enis, Sr.** (Nichael Rios)	63.5	X			
127.0	2. Joanne C. Preston (Carmelita Mattias)	63.5	X			
SCHUK TOAK	1. Johnn Francisco (David Valenzuela,Sr)	53.5	X			
107.0	2. Joseph Juan (Frances Francisco)	53.5	X			
SELLS	1. Joseph T. Joaquin (Larry Garcia)	155.0	X			
310.0	2. Andrew Patricio (Daniel Lopez)	155.0	X			
SIF OIDAK	1. Hary Ann Antone (Nina Jose)	79.0	X			
158.0	2. Willard Juan, Sr. (Nelissa Gregorio)	79.0	X			
	TOTAL	1,724.0	1,610.0	114.0	-0-	03